HEEFEHETHREZABERE (—) cosrrzam

— R ARAR 5 . =Rk L¥a Ml
(1) AT ot 7 L T THI AR VERRVIPS 1.72
ALk % -88. 07%
T i 5 125 3 I 4 5 AR THT AR VERRVIPS 0
A Lk % 2350
) A i 5 bt o T TR VERRVIPS 1.07
ALk % -91. 90%
PR AT B BB 54 15 2 A AR VERRVIPS 0
A Lk % 2350
3) A AR B T R A 3 66
ALk % -93. 59%
Horb: 60m’ KLU R AR 3 0
A Lk % 2350
60-90m (&) FRIEH = 0
A Lk % 2350
90— 144m* PRI EH = 20
ALk % -97. 78%
144w’ K UL B RIS £ 46
ALk % -64. 34%
i S TR %
A Lk %
RTREX BB () B4 £
A Lk %
(4) e Ml FH 5 bt o 0 TR VERRVIPS 0.65
Al Lk % -46. 28%
Horbe S F IR X TR VERRVIPS
A Lk %
RLTRBX BB () VERRVIPS
A Lk %
P MV s BB 54 £ 2 A T AR VERRVIPS 0
A Lk % 2350
() I3 F s I T T AR VERRVIPS 0
A Lk % 2350
Horbe S0 F X TR VERRVIPS
A Lk %
RLTRBX BB (i) VERRVIPS
IO G5 BB 554 1 4 A T AR VAREVIP S

ALk

HvE: 20244 1- 12 A Fris Bl ZAr5. 2975 °F H K.

MEEFMETHXABERE (2) (02 112 )

—%ig | JF5 . ZRAERR AL il
(1) & it 75 A8 B THI AR VRIES 14. 4
G4 % ~47. 16%

(2) T 5 5 38 S T/ V5K 3551




Eil=4 % -1. 55%
(3) i A s A2 S TR RS 11. 26
[Eil=4 % -48. 68%
(4) PR BB = 865
GilE4 % -51. 46%
o 60m’ K LR AR & 3
Gilz4 % -95. 24%
60-00m (&) FHEH S 0
il % 150
90~ 144m* 1AL B 3 752
Eil54 % —46. 63%
144m’ K LA b P AIER S 110
Gilz4 % -49. 54%
Hp: MTFEWMXER =
[Gilz4 %
PR LR (W) 2% S
(—) Eilz4 %
i it (5) 7 b LR 2 S TE/ K 3543
ot E]E4 % -3, 41%
e o EWXHMN JC/ TR
Gil=4 %
WIX B (D Btk Ju/ VK
GilZ4 %
(6) 7 P o 22 5 THI AR URES 1.08
Gl % -55. 37%
Ho: T EWX R JiFTik
EilE4 %
PEFRRIX KB () IR JiFTik
Eil=4 %
(7) i A2 G 5 Jo/ Pk 6094
Gil24 % 25. 88%
(8) I 3 28 5 TR RS 0
At % 21350
o L EIWX AR JiFTk
GilE4 %
PrFRRIX B () IR VAR RS
Eil=4 %
9) I F 55 28 5y Yt JC/ V7K 0
[Gilz4 % M0
(1 ZFEE R VRE S 15. 43
il % -3. 68%
(2) ZFEE SN J6/ Tk 2218
[H] Lk % 19. 06%
3) Z AR EAE G Ji~FTAk 13.31
Eilz4 % -3.13%
(4) ZFEBEZ SN JC/ VK 2088
(= [ £t % 6. 42%
—FHE (5) ZFERZHE = 940
5 il % -10. 90%
V) Heb: ST EMXER =
Gila4 %
P ER () B &
Gilz4 %
(6) IR 7 28 5 THI AR Ji~F oK 0
il % 350
(7) P 55 22 B T AR Ji~F oK 2.12
[ Lk % -7.02%

Ve 20244F1-12 A B e E2. 065°F K.

WEEFEH RS ABRE (Z)  cosonm

—gis | e | BT | e | wom




M H AT dn 5 rT T AR JARIP N 66. 4
e AR HK VAREVPS -0.88
() F R A B ] TR JARIP N 37.7
b AR K VAREVPS -0. 66
(3) HARB A EER G2 2993
e B HRH K S -48
Hor: e0m’ K LAR P AR G2 201
e BRI K S 0
60-90m* (&) FAIEH &3 53
b AR K = 0
90~ 144m* J1 A1 A4 = 2318
bt A AR K = -43
144m JZ LA b A G2 421
e A AR HK = -5
I s T ERR AR £
Eﬁ i b A RS £
RFRMX R (W) B =
b AR K =
(4) M s ] T AR VIRVIPS 8.98
e BRI K VAR VIS -0.02
Her: A FEWX IR RPN
e BRI K VAR VIS
RLFRX B (H) R RPN
e BRI K VAR VIS
(5 IA B AT AR TR GRIEN 0
e B H RIS K VAR VIS 0
Hdr: A EIWX AR GRIEN
e BRI K VAR VIS
RLFRX I H (H) mR URIEN
e B H AR K VAR VIS

ik LAAPEIEImARN2. 39 0w, Hrp HiE(EB 136 MAR0. 84 /7m

A1) TN 54 T3 FK: 2. AREALERF9. 1255 F 5 K.

G, R HAR (2




